
HONDA
ACCORD

CIVIC

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

53560 S1A E01  

53540 S1A E01 

53521 SM4 013 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

c:Ø 13 th:FM14x1,5 RHT 

c:Ø13 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:138mm 

17RV1500 

17RV1501 

20RV15 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
53540 S04 013  

53560 S04 013  

Tie Rod End Right 

Tie Rod End Left 

c:Ø12,6 th:FM14x1,5 RHT 

c:Ø12,6 th:FM14x1,5 RHT 
17RV1000 

17RV1001 

                                                                                        
ACCORD IV (CB1-CB3-CB5-CB7)
ACCORD V (CC7)
ACCORD V AERODECK (CE)
ACCORD V COUPE (CD7-CD9)   
ACCORD V (CE-CF)

                                                                   

01/1990 - 03/1993
03/1993 - 02/1996
09/1993 - 02/1998
09/1993 - 02/1998
02/1996 - 10/1998

1 2

12

3

20RV15 20RV15 17RV150117RV1500

17RV1001 17RV1000

                                                                                        
CIVIC IV (EC ED EE)                                                                         09/1987 - 07/1991



HONDA
CIVIC
                                                                                        
CIVIC V (MA MB EG EH EJ)                                                                 08/1991  01/1997

                                                                                        
CIVIC VI (MB MC EJ EM1 MA EK)                                                       11/1995 - 02/2001

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

51220 S04 003  

51220 S04 003* 

53010 SR3 010  

Ball Joint 

Ball Joint 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,6 do:Ø40 

th:M12x1.5 RHT  cp:1/8 cs:Ø15,6 do:Ø40,05 

th:MM14x1,5 RHT L:162,5mm 

10RV2000 

10RV2010 

20RV05 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

51220 S04 003  

51220 S04 003* 

53560 S1A E01  

51320 S04 003 

52320 S04 003 

52321 S04 003 

Ball Joint 

Ball Joint 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear Right 

Stabiliser Link Rear Left 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,6 do:Ø40 

th:M12x1.5 RHT  cp:1/8 cs:Ø15,6 do:Ø40,05 

th:MM14x1,5 RHT L:162,5mm 

L:55,5mm  

L:90mm  

L:90mm  

10RV2000 

10RV2010 

20RV05 

26HN0200 

26HN0205 

26HN0206 

3

21

4

20RV05

10RV2000 10RV2010

20RV05

3

2

5

1

20RV05

26HN0200 26HN0200

10RV2000 10RV2010

26HN0205

20RV05

6

26HN0206



HONDA
CONCERTO

CR-V

CR-V

                                                                                        
CONCERTO (HW)                                                                                08/1989  10/1996

                                                                                        
CR-V I (RD)                                                                                        10/1995 - 06/2002

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 53540 SK3 E01Tie Rod End c:Ø12,9 th:FM14x1,5 RHT17RV2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 51220 STK A01 Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø17,5 10HN0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
53010-S10-000 

51320 S04 003 

Axial Joint 

Stabiliser Link 

th:MM12x1,25 RHT L:197mm 

L:55,5mm  

20HN0200 

26HN0200 

1

17RV2500 17RV2500

2

1

1

26HN0200

20HN0200

10HN0500

20HN0200

26HN0200

                                                                                        
CR V III                                                                                                           10/2006  01/2012
CR V IV                                                01/2012 >

                                                                    

                       

-

10HN0500



HONDA
CRX
                                                                                        
CRX II (ED-EE)                                                                                    09/1987 - 02/1992

                                                                                        
CRX III (EH-EG)                                                                                   03/1992 - 12/1998

-

2 1

17RV1001 17RV1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

51220 S04 003  

51220 S04 003* 

53560 S1A E01  

Ball Joint 

Ball Joint 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,6 do:Ø40 

th:M12x1.5 RHT  cp:1/8 cs:Ø15,6 do:Ø40,05 

th:MM14x1,5 RHT L:162,5mm 

10RV2000 

10RV2010 

20RV05 

3

21

20RV05

10RV2000 10RV2010

20RV05

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
53540 S04 013  

53560 S04 013  

Tie Rod End Right 

Tie Rod End Left 

c:Ø12,6 th:FM14x1,5 RHT 

c:Ø12,6 th:FM14x1,5 RHT 

17RV1000 

17RV1001 

-
-

-



HONDA
LEGEND
                                                                                        
LEGEND I (HS, KA)                                                                01/1986 - 12/1990
LEGEND II (KA7)                                                                                   01/1991 - 02/1996
LEGEND III (KA9)                                                                                02/1996 - 09/2004

        

                                                                                        
PRELUDE V (BB)                                                                                  10/1996 - 10/2000

1

10RV1005

1

10RV1005

PRELUDE

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 GSJ295Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø18 do:Ø4310RV1005

1

10RV1005

1

10RV1005

ASMETAL CODE MEASURES OEMDESCRIPTION

GSJ295Ball Joint th:M14x1.5 RHT  cp:1/8 cs:Ø18 do:Ø431 10RV1005

NO


